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129,600 + 2,896
= 132,496
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Dan, Chris, Jim, Tim, Robert.
1 J—

=3= 1/3

. 4= 1/4

75%x52 = 39

. 3x5=15

. 3x4 =12

- o IN

There are 4 possible outcomes: (H, H), (H, T), (T,
H) and (T, T).

(H, H), (H, T), and (T, H).
. 5x4 =20
. 3x2 =6 ways

To scramble the work “map” as
map, mpa, amp, apm, pam, pma.

72X2X4 _ 9X2x4 _ 9X1x4_ 3X1x4
48 6 3 1

. 4 of them

HHH

HHT (including HTH, THH)

HTT (including THT, TTH)

TTT

=12 cans

HHH
HHT
HTT

TTT
. 1.25x24 = 1%><24 =24+ 6=30

. 7x3 = 21 (with change)
7x4 = 28 (not enough)
Ans = 3 books at most
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1 . . .
Note: to get 7 of red, the ratio of red to white is

1:3.

1:3 = 2:6 = 3:9, thus there are at 3 red goldfish and
9 white goldfish that can be put into the tank.

Ans = 3 red & 9 white
=3/2

=2/5

1/4 - 1/4

A=12

3x24=9

0.06

18

500

120+2 = 60

60+3 = 20 (width)
20%2 = 40 (length)
20+2 = 10 (radius)
102n = 314

2%314 = 628 (two circles)
20x40 = 800

800 - 628 =

10 - 6 = 4 (height)

4X6 = 24 in?
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90.

Issue 9
60+2 =30
30-20=10
20%10 =
12%25000

= 3%X4x25000
= 3%X100000

- o000

B
3.25

12012 =10

212 + 10) =
40x12.25 = 490
195+32Y5
=195+32.5

-
360+60 =
20X3%2 = $120

is
14+2+3+4+6+12
=28
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1,2, 3,4, 6, and 12 are the factors of 12. Their sum

260+



